Efficiency vs P,

+0.05
o

D0ASE b
< Y N O
L 5 5
D035 oo e
5] E : :

0.08F +++oreeieeseennenes e ST
0.025f -+ e e o

0.02F -+ #meierernenens e e
0,015 -+-eeeeiesensenens e e
0.01F -+ P Feeeeeeeeen e

0.005

F e : :
o LB T BT BT BT
g : :
m L -+
| i b = 2 R e b i iR iy
0.95L n : : = .
10~ 1 10
0. (Ge?
T
[—— DQW_orignal_stepZ_Tibar-phaseI-Newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquarel5_step2_tt ar-ﬂhasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
1
= 0.4

4




	Contents
	Page 1


